8-2 150MHzUUUIOOOOOOOOOO0OOONO

HEEEN

1.0000

obooooooboooboobooboooboooon
gbobooobooboooboooboooboooboooobooooo
gboooboooboooboobooooooooonoo
oboboooooooooobooboboobooonoo
goooobbooooobooboooobbooboooDo
gobobooboboooobooboobooobooo

gbooooboooooboooboobooboobooon
oobooooooooooooooboooOooobooo
gbobooooobooboobooooooooooo
00 0000 oo0obD 0oooo 4000000000

2.0000

boboooooooobooboobooboon
gooobooooooboooobooooboboon 20mAd
obooooooboooboooboobooooboooonoo
gbooooooooooooboooboooooooo
goobobooo3goooooboooooooboooa
oooooooooBOoOoOoOoOoODODODDOOOO
ob0o1b02000000000000000DO
uobod2zm000000001500000000
gboooobooooboob 1.25m0O 1.mO0O0
obooobooobooobooobooooooooonoo
ooooooboobD sem00goooOoOoDOO
gbobooooboooboooooboobooboooo
gbooooobooooboboo

3.0000

gbooooooooobooboobooboon
oboo0ooooo1oo2000000000000
obooooobooboobo10b0oon

4.0000000000

0100D00000DO0O0O0BOOD 20000000
OO00o0o0oooOoo0000 Aboboooooooo
gbooooboobooobooboobooboooo
gbooooboooooooboooboobooono
obobooooboooooobooboooboobooo
gboooooobooboooboobooboooo

googo
071504200000

gbobooboooooooooboobooboooo
obob10000boo00o0 BOOoOoOooooooo
goooo

ooooooooooooobooooooooo B
booobooooooooboooooboobooonoo
obooobooooooboooboobbooboooo
gbobooboooooboooooboobooboooo
gbooooooboooo

NK7>T)8

= 3 =

195 e S

—=E —kF

0 1. 0000008B
M—=F7TF

345 70— 15

20000000

01:0000000000000000000
/000 | D00 | 0000000 [dBn] |

O0DA| OO -63
go -62

OO0 B go -58
go -61

go go -63
oo -60

ooo oo =77
oo -79




